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Έστω         Α α,β , Β γ,δ , Γ ε,ζ , Δ η,θ  οι κορυφές  του ΑΒΓΔ και 

       1 1 2 2 2 2 3 3 3 4 4 4Μ κ ,λ , Μ κ ,λ , Μ κ ,λ , Μ κ ,λ  τα μέσα των 

ΑΒ,ΒΓ,ΓΔ,ΔΑ  αντίστοιχα .  Τότε είναι: 

 1 1 1 1

α γ β δ
Μ κ ,λ Μ ,

2 2

  
  

 
 

 2 2 2 2

γ ε δ ζ
Μ κ ,λ Μ ,

2 2

  
  
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 3 3 3 3

ε η θ ζ
Μ κ ,λ Μ ,

2 2

  
  
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 4 4 4 4

α η β θ
Μ κ ,λ Μ ,

2 2

  
  

 
 

Είναι  1 3

α γ ε η
κ κ

2 2

 
      και  2 4

γ ε α η
κ κ

2 2

 
    

Οπότε  1 3 2 4κ κ κ κ    

Επίσης  1 3

β δ θ ζ
λ λ

2 2

 
      και  2 4

δ ζ β θ
λ λ

2 2

 
    

Οπότε  1 3 2 4λ λ λ λ    

 

 

 


